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Solutions
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2. Consider the graph of the line y= x on the right. a)/2
1
r
a) Sketch the graph of the line after it undergoes a Y 3 3 1 &
translation up 2 units. / T
. . . . + £ 4 2 1 4 it £
b) Does translating the line affect its slope? 4
¢) If the given line is translated down 3 units, what 1s its ' I
new y-intercept? -5

d) If the given line is translated up 4 units, what is the equation of the resulting line?
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3. The line y=3x 1s translated up 7 units. What 1s the equation of the resulting line?
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9. The graph of v= —% x shown on the right undergoes a

reflection in the x-axis.

a) Sketch the graph of the transformed line. N
b) State the equation of the resulting graph.
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11. State the equation of the line y = —8x after it undergoes each of the following transformations.

a) translation up 14 units b) vertical reflection (in the x-axis)

Teansledios affeck fhe y~icdetept ot Slpe
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Sign of #e. Slop= .

o) 9=~8x wp I = y=-8x+lt
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b) Y=-8 el = y-sx
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12. State the vertical transformation(s) that can be applied the graph of y= - to obtain the graph

of each of the following lines.

a) y=%x—l? b) y=—%x c) y=15+%x d) y=—x—=
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